[image: image1.png]The main purpose of antitrust legislation has been to:

2. break up large businesses into perfectly competitive industries with numerous
suppliers.

b.  prohibit monopolies, and give the government control of concentrated
oligopolies.

. legalize certain price setting practices, which are beneficial to markets.

d. reduce price fixing, coercion, collusion and other dubious practices that early
oligopolists were free to use.
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d. vertical merger.

_+ has been almost entirely ineffective.

l;. has succeeded in abating the merger trend by providing a mechanism through
which a merger can be examined.

c. has misguidedly restrained entrepreneurial firms that generate their own growth.
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b.  provides a certain level of insurance against deteriorating economic condition
d
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d. is exemplified by the merger of an iron-producing firm with that of an iron or
mining company.
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a.  the demand created for a final product through the refinement of one or mor
resources.

b.  the demand created by the production and supply of a large quantity of any
product, which floods a market.

the demand for a resource created by the demand for a final product, which i
made from that resource.
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d. acalculus differential used by economists to measure consumption increases
over a period of time.
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.a.) the demand for final products made from that resource. |

its productivity, relative to other resources.

¢ its price, relative to other resources.
d. all of the above.
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b. its productivity

\c.\x the selling price of the final product which the resource helps produce.
. bothaandb. s

e all of the above.

a.  the additional revenue generated by the sale of output produced by one more
unit of a resource.

b.  the physical labor employed to produce one more unit of output.

< (}‘ the additional output produced by one more unit of input.

d. none of the above.

Marginal revenue product declines as output
4 rises
b. falls

A firm will use increasing amounts of a resource until a point is reached where the
marginal revenue product of that resource is equal to its price.

a. True

b, False

Use the following table to answer questions 14-16.

Labor units Output
1 20
2 38
3 50
4 60
5 68
The marginal physical product of the third worker is:
a. 10 units
b. 12 units
¢ 16.67 units
d. 50 units

1f the price of the final product is $5 the MRP of the fourth unit is:

a. $50
b. $ 60
c §$90

d. $300
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17. The demand for a particular type of labor is equal to the sum of the marginal revenue
product schedules of all firms in that industry.
a. True
b. False
18. The difference between what the producer pays for a resource and the revenue

generated by that resource is:

4. the marginal physical product of the resource.
b.  the marginal revenue product of the resource.
. the producer’s surplus.

d. the prodauctivity of the resource.

Please answer questions 19-21 using the following table:

# of machines Output MPP Price | Total Revenue MRP
1 24 24 $8 $192 $192
2 40 16 $§7
3 52 10 $6 $312
4 5 $280 ($12)

19. The marginal revenue product of machine 2 is:

a. $280
b. $7
c $88
d $112

20. The marginal physical product of machine 4 is:

a 56
b. 8
c 62

d 4
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1f each machine cost $88, then the firm would:
a. not produce any output.

b.  employ 3 machines.

. raiseits price to §14.

d. employ 2 machines.

Which of the following would have the greatest effect on the demand for orange juice
in a given year?

a. Favorable weather conditions raised the productivity of orange groves.

b.  Changes in consumer tastes lowered demand for orange juice.

¢ Anincrease in the productivity of labor in juice production facilities.

d.” Areduction in the pineapple harvest, leading to less pineapple juice on the market

Arise in demand for a final product results in a rise in demand for the factors of
production used to make that product.

@ True.
b.

False.

1f capital and labor are substitute resources, and the wage rate rises, then:

. employment of labor will be decreased by the output effect and increased by the
substitution effect.

b. employment of labor will be increased by the substitution effect and increased by
the output effect.

c. employment of labor will be decreased by the substitution effect and increased
by the output effect.

d. employment of labor will rise and employment of capital will fall.

e. none of the above.
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[image: image6.png]The principle aim of the Taft-Hartley Act was to:
a.  stop employers from engaging in unfair labor practices.

b.  empower the President to avert strikes that "imperil the national health or
safety."

reduce the number of takeovers of localized unions by national bodies.

a0

protect the rights of the employer.
e. bothaandc.
f. bothband d.

The Landrum-Griffin Act:

a. was the most “pro-labor” law ever enacted.

b. sought to curb embezzlement of union funds.

c.  enacted a provision of union election procedures.

d. was the major impetus for the increase in union membership between the 1930:
and 1940s.

e. bothbandc.
f. all of the above.

An arrangement which a union negotiates with employers limiting employment to
union members only is termed a(n):

a. union shop
b.  closed shop
c. open shop

d.  right-to-work law

Union membership has declined steadily in the U.S. economy because of:

a.  the AFL-CIO merger.

b. the principle of exclusion.

c. the sharp decline in manufacturing employment over the last two decades.

d.  growth in the power of large manufacturing conglomerates.

A monopsony occurs where there is a single buyer for a product for which there is
no substitute.

a. True.
b.  False.
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The process of collective bargaining:

. is a method through which union and management representatives attempt to
avert a strike or lockout.

b. is considered to be the center of the power struggle between labor and
management.

C. covers a single issue:- wages.
d. bothaandb.
e.all of the above.

The dual labor market theory:
. states that all workers compete for the same jobs in the long run.

b. - suggests that middle level occupations, which don’t require a college degree, are
slowly eroding the class theory of employment.

c. supports the contention that there are noncompeting groups in the labor
market.

d.  none of the above.

The supply curve for labor eventually starts to bend backwards when the income
effect outweighs the substitution effect.

a. True.
b. False.

Differing wage rates occur:

a. as aresult of different levels of worker productivity.

b.  because of different skill levels.

¢ due to worker preference for working hours and conditions.
d. bothaand b.

e all of the above.

An increase in real wages and our standard of living:

a. can occur through the importation of relatively cheaper foreign goods.
b.  occurs when wage increases equal the rate of inflation.

c¢. occurs when output per labor-hour and national production increase.
d. all of the above.

In order for real wages to grow:

4. employers must eliminate economic rent.

b.  labor contracts must include annual cost-of-living adjustments.
c.output per labor hour must grow.



[image: image8.png]An individual earns $500 per week in 1990 and $600 per week in 1998. The
consumer price index for 1998 [using a base year of 1990] was 125. Over this

period the individual's real wages
a. rose by $100

b. rose by $25

c.  stayed the same

d. fell by $25

e. fell by $20

The elimination of a minimum wage rate may not positively affect the unemployment

rate because:

2. * demand for unskilled workers is receding.

b.  wages are more often set institutionally and through collective bargaining
agreements.

. teenagers have a higher propensity to accept non-skilled positions.

d. all of the above.

As demand for land increases:

a.  the supply becomes less inelastic.

b. rents fall and more land will become marginal.

c. rents rise and more marginal land is brought into use.

d.  the MRP of land increases.

Economic rent:

a

has no effect on productivity and should be taxed heavily by government to
finance its activities.
inflates the prices of products.

serves as a guide to steer the most productive companies, and hence resources,
to the most desirable locations.

is the basic determinant of the demand for land.

As rents rise more marginal land will be used.

a

b.

True.
False.



[image: image9.png]The level of investment that an individual firm will engage in depends upon the:
a.  availability of loanable funds.

b. firm's marginal revenue product for capital.

¢. current interest rate.

d.  price and availability of capital goods.

e. bothbandec.

The net productivity of capital is equal to:

a.  the dollar value of a firm's sales divided by the dollar value of the investment
funds used to generate those sales.

b.  the dollar value of a firm's total costs multiplied by the interest rate which that
~ - money could earn if payments are withheld.

c.  the dollar value of the firm's net productivity divided by the capital cost.
d.  the expected profit rate multiplied by the current interest rate.

A metal shredder is expected to yield an annual return of $1200 for a salvage
operation. How much will the dealer be willing to pay for the machine at the current
6% interest rate?

a. $15,000
b $12,000
¢ $120,000
d. $20,000
Implicit costs:

a. tend to have a large impact on the profits of major corporations.
b.  significantly overstate economic profits.
c.  consist of materials costs, overhead and salaries.

d. are subtracted from accounting profits to find an approximate figure for
economic profit.

e. bothaandc.




